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&Te jeme : 3.00 wewfl CHrD | [ Qrgg wHuCueamser : 70
Time Allowed : 3.00 Hours ] [ Maximum Marks : 70
Slejemrset : (1) Smasg lamssephd slwrg udHeurd o drensT eranLsmen FilLTTSSS

Instructions :
GOy = ()

(i)
Note : (i)

QameTera|d. &FsHLLSND GapulmLiber e seamsmentllumeTLb
o L amqwirs GQgflellggse|m.

Beodb oz smUY owulmar LLHGCL  ET(WHSDHGLD
23 &ECasTg(Haugn@Gb LweaU(hds GCalar(Hb. LLBIGET eUaieUsnE
QuenFled LT I(HSSe L.

Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@ - 1/ PART -1

SlemensG NaTTESHERSEGD ellen_iet&seLb. 15x1=15

Qarhsslul(heTerT HBIew@ WLIHM elenLgafle WEead ehHLenL ul

aflenLenws CambogHdgEIs GMUILHLer allen uleamear b Carég) er(pHeib.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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2
Fburadley ofsb srenrlin(eug :
(=1) gD (=) I8 E (&) IgM () IgA
Colostrum is rich in :
(@) IgD (b) IgE (€ IgM (d) IgA
Bflenr srewgls urdésrwe, em Anps Qsron FsHwurs slebr
&SSsM9e0 LwaTuOSSILGS DG
(=) Qardlés emoussen (=) Um oagm sliser
(@) oCaren Gargsa (rr) @Cermiler @ Hs
Without altering water quality, is/are an ideal disinfectant used in waste water
treatment.
(a) Boiling (b) U-V rays
() Ozonisation (d) Chlorination

S@TL&D, @OHULFseuUT UGHYLaib, SMmUmULL@ID @@ s Brilarmed
@anemssILL(heTeng). SHeng Brfler Gl

(1) e@wGurwlfwbd (<) SAHTL& @QEnLPU GUEE

(@) BSCerGeuflwibd () wweflsr ojduailur

The ovary remains attached with pelvic wall and the uterus by an ovarian ligament, called :
(a) myometrium (b) ovarian stroma

(c) mesovarium (d) tunica albuginea

B Qedvsener grewr(heug) :

(1) @eorLrGlurmes (=) BIrdigs snmiser
(@) erdlr@ummer grevriq (FF) erdlrCummer

B cells are activated by :

(a) Interferon (b) Complement

(c) Antigen (d) Antibody

g8l RNA epavdgam erpennuiled o meurssliLihdng ?

(<=1) BEHOTESLD (=) @rigliurse
(@) CurmPCuWTEsS6 (FF) LgCwhHssen
A mRNA molecule is produced by :

(a) Duplication (b) Replication

(c) Translation (d) Transcription
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6. euatiamellan grrafl QFwWsHiqliL aIsb

(1) 120 - 160 gL/ HlSILid (<=4) 120 - 130 giiq.Luy/HlslLibd
(@) 130 - 150 glgLiy/HISILiDd () 130 - 160 gligLiy/HISILiDd
The average foetal heart beat rate is :

(@) 120 - 160 beats/minute (b) 120 - 130 beats/minute

() 130 - 150 beats/minute (d) 130 - 160 beats/minute

7. uUpmeseT LHMID euaTensHL YFflsaflar QnEmssdr SPESMTL TG
T(HSSIESTL_(H&HETTGLD ?

(<=1) elfl uflewrmoLd (<=4,) TmIUTHSET

(@) @el ufewrmo (FF) wreued (Ppenm SSHEIELDLILY
The wings of birds and butterflies is an example of :

(a) Divergent evolution (b) Variation

(c) Convergent evolution (d) Adaptive radiation

8. paiarn waflg Qerd eThs sTwsmnss GCorbseg) ?

(=) GaurrlLierl (<) Cawiiflwer
(@) FriCLadlwev () engqmflwier
Modern man belongs to which period ?

(@) Quaternary (b) Cambrian

(c) Cretaceous (d) Silurian

9. augFTE@SEETD TEHaTED 2 HLSSHEE Lweru(Hn Curgelrer serlEummer :

(1) s@mbuTns Hle] (<) Camum wrey

(@) Gagmer wrey () BHlesseame

The most common substrate used in distilleries for the production of ethanol :
(a) Molasses (b) Soyameal

() Cornmeal (d) Groundgram

10. GEAC eremug) :
(=) wryl Qurduiiud elLse G
(<) 88Gammd Qurdlufwed QFwed @pLoLd
(@) wydhlu oY SHNFSPSD RUUSD GQLoLD
() Hle &HmEFESwe GFwd @ wid
GEAC stands for :
(a) Genetic Engineering Approval Committee
b) Genome Engineering Action Committee
c) Genetic and Environment Approval Committee
d) Ground Environment Action Committee

(
(
(
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11.

12.

4

Crru,&dlser wHMID Aameusem o arLr&@Gh Crriusamer ClUTmSS) a@:@g o _@Ter
ghlwurer Qurmbg GOl CaibogH&Ese, .

(A)  agCuwaiur CLrCermeuref (i)
(B) e gefflum urerdlymesLig (i)
©) wiuuGermGaror Cabldwenen (iii)
(D) erewrLSum adlevLmedliga&m (iv)

SIS Qwrdlev
STV - &FMIT
&5 aflwrg)

wrenessmed Cmmul

Match the pathogens with respective diseases caused by them and select the correct match

using the codes given below :

(A) Leishmania donavani (i)  Amoebiasis
(B) Wuchereria bancrofti (i) Kala-azar
(C) Trypanosoma gambiense (iii) Sleeping sickness
(D) Entamoeba histolytica (iv) Filariasis
(@) (A)(id), (B)-(), (O)-(i), (D)-(v)

(b)  (A)-(i), (B)-(iv), (O)-(iii), (D)-()

(©  (A)-) (B)-(iv), (O)-(iid), (D)-(i)

(d)  (A)-@), (B)-(iv), (O)-@1), (D)-(iii)

EpaerT_cupmier r-ShMlansgls@ 2 STreanid

(=) sreRTL T (HaLD (=,) waigen

(@) Sullmised (FF) y&slser

Which of the following is an r-species ?

(a) rhinoceros (b) human

(c) whale (d) insects
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13. waflseafler ABO @Qr$s euanssamer sL_(HLLOSHIeUF

(1) UM &TTHS LOTLIGISHSET (<) UL () HDOSET
(@) Camreoranrigfld sdemser (r) Qaree wrLewI&EseT
ABO blood group in man is controlled by :

(a) Sex linked genes (b) Multiple alleles

(c) Holandric genes (d) Lethal genes

14. Pluyd yusdled 2 earer 2 ulflammseilen saalvsmers Caaflsg), QTGS Heuli
UL quwieons Gleuafludi(hid Hlmeued :

(=) IUCN (<) WWF (@) UNEP (rr) ZSI
The organization which collects, compiles and publishes the red list of threatened species :
(a) IUCN (b) WWF (c) UNEP (d) ZSI

15. ereueuens QarliGLmsssdle Coumurhser Careammibd ?

(1) umredlers GLim&sLD (<,) uredledl @aTiGlLIHESLD
(@) serafl @eriQUmEsD () (=) wHpd (<) @remGid
In which mode of reproduction variations are seen ?

(a) Sexual (b) Asexual

(c) Parthenogenesis (d) Both (a) and (b)

U@S - I/ PART - 11

GO : eTewmeuCuenid gym elammssErs@ e wellGseb. efarm eremm 24 -&@&
SL_Lmwwnd edenwefl&Ese|b. 6x2=12

Note : Answer any six of the following. Question No. 24 is compulsory.

16. Caumu®sgs : delaflEmeymsed wHMLD 2 L &MHemse.

Differentiate between external and internal fertilizations.

17. wafllsflé uew albg g smeynige ereuaigbd sHESILMHE DS ?

How is polyspermy avoided in humans ?

18. umeelenend Qgmom Crmilsmers SHSGLD (PEDSEMET 6T (SIS

Write the preventive measures of STDs.
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19. Camreoreriqfé LDFUGDISEHET GTEmDTed 6T

What are holandric genes ?

20. “‘wrugn GO, 2 asdler 2 drer eraver 2 ulflEErs@d QUTGeUTea)”. - STyemaiser
Fa )5

Give reasons : Genetic code is universal.

21. engwred) eremm GerHEmTLeny euTLINI&ES6|LD.

Define the term ‘Zymology’.

22, 2 Wlflu Ldeumss Feanenoudler cpeaTn HlaneseT WTenel ?
What are the three levels of biodiversity ?

23.  wewentler CHTHHLD ETETMTE 6Tewmen ?

What is Pedogenesis ?

24. GMmLIAW uaTLsemer CaTeam ellomiGsamer eThg belar 2 uldfl QsmlamnL LSms
LwerU(HEd 2 (HeursESmD ? THGSHSSTL(H S(HS.

How will you get desired traits in animals by using modern biotechnology ? Give examples.

U@l - 11/ PART - III

@MUY : eTemeuCuenid ym NaTs s @Ers@ el wellGseb. eflarm ereamm 33 -&@
SL_L_mwong edlenl_wefl&Esa . 6x3=18

Note : Answer any six of the following. Question No. 33 is compulsory.

25. saral QaMICUBESD GTEmDITe) 6T ? DHSET CUMEHET LITene ?

What is parthenogenesis ? What are its types ?

26. evQuUTNGurtgaidlen wHmb evGLTLL GLrbgaildfen Coumubhéss.

Mention the differences between spermiogenesis and spermatogenesis.

27. uefllE@Ls glenerii eremre eranen ? @Q&6smiflem Il LSHHE@ FLLLiquirer el
edlgliLg) erem ?

What is amniocentesis ? Why do a statutory ban is imposed on this technique ?




28.

29.

30.

31.

32.

33.
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rwrisdler Guplul L uaryds Carliurliyamer seubper HleplGsseur wrm ?

ereueurm Hlemlassmi ?

Who disproved Lamarck’s theory of Acquired characters ? How ?

Cuaygsrssd, elpn@ Ososeaiear CFuTsssdled e Hmem eUTUBSSTS
sBsLILHED ?

Why is opsonisation efficient in phagocytosis ?

Srroiym ugdlsefler 2 ulflu eury 2 HusSH Hlenowmigeflen LweTsmeT Fnmis.
List the advantages of biogas plants in rural areas.

ridwey wrpptul’ L o Wiflambsermd ChMlLGamiqul LUSSHISSET Wrene ?
What are the possible risks of GMOs ?

Gureng LMHHSISET WHMID WL LILPSSSSlHHg ale@nbGurg huBd elased
2D GNHEN6T 6T (LPGI5.

Write the common withdrawal symptoms of drugs and alcohol abuse.

Gursrefler eldenw auerUmEsaLD.
Define ‘Bergmenn’s rule’.

UGS - IV / PART - IV

SN : Semesisg elarmmss@rs@Eh alenl wafldsea]b.
Note :

34.

35.

Answer all the questions.

5x5=25

(=1) 2lflsafled sranTliLGL LG UMSWTET ¢(HhIEMERTE] (6w M & e 6T

ollemsGs.
S|6V60F)

(<) ewerss wHmD whHsLrear CrTUsMLSE &TULSERSSE L Guiwrer

(a)
(b)

Caumur(h&eneT 6T(LpG)s.

Explain the different kinds of syngamy in living organisms.
OR

Write the differences between active and passive immunity.

(=1) DNA CGrens o586 Qgmleml LsSler LweTUT(HEmT 6Sl6TdH@Hs.

S|6V60G)

(<) Lmrellailwg Carluriiqer (psdlu Tl sHSSHIESHET Wreaneu ?

(a)
(b)

Explain the applications of DNA fingerprinting techniques.
OR
Mention the main objections to Darwinism.
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36. () Bflewr wpsHlw LaRTSET Wreneu ?
36060 G
(<) wevGoum wrsalLmis Gepurheners Ll iqwed(hs.
(a) What are the various essential properties of water ?

OR
(b) List the various menstrual disorders.

37. (1) mewanuiflu erflCummer sever eTatnmed erarer ? allems@s.
S|6V60F)
(<) mCargens @engedlan ereualmrn 2 HuGSH QElwiL®Eng erariems allers@s.
(a) What is Microbial Fuel Cell ? Explain.

OR
(b) Explain how recombinant insulin can be produced.

38. (&) sdlfluss slesmer SHMID PNEHEMET 65l6TdHEHS.
S|6V60F)
(<) 2 ulflw Leuemasserenouden @ lildnarer LGalm STrammhiIgEameT LL g 1160l (Hs.
(a) Explain the methods of disposal of radioactive wastes.

OR
(b) List out the various causes for biodiversity losses.
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